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Quadratic Functions

1. The following equations are in Standard Form. Please complete the chart.
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Mr. Hallihan in St. Louis???
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Standard AV @ aense® NOTES - Standard to Vertex Form.pdf

STANDARD VERTEX
: FACToL N

y=ax +bx+c y=a(x-h) +
« 'a'value « 'a'value

— stretch factor — stretch factor

— direction of opening — direction of opening
» y-intercept o vertex

- AOS

— Domain/Range
— Max/Min y value
— Sketch/Graph

We need to FACTOR..."Complete the Square' Method!!!
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S --> V by completing the square

STEPS:

1) Factor out the 'a’ value from both
the x and x° terms [GCF].

2) Complete the square on the x term...
- take half and square it!
- add this constant within bracket
- subtract constant outside bracket

multiplied by the ‘a’ value in front.

3) FACTOR the perfect square trinomial
Note: JFirst & JLast with sign from middle

VERTEX FORMI!I

June 05, 2017

EXAMPLE #1... ¢, o« |

y=x"-6x+4y "’(Q‘L(fr"’m
j:GS,Z/é/C T—ﬁ 4,7/
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More Examples: S->V : Comple‘re' the square with "a=1"
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HOMEWORK

~ Worksheet - Standard to Vertex (a = 1).pdf

b

Do even #'s



Attachments

Q NOTES - Standard to Vertex Form.pdf
Q Worksheet - Standard to Vertex (a = 1).pdf



Standard --> Vertex Form

STANDARD |m »| VERTEX
2 =a(x- h)2 +k
y=ax +bx+c y=aix

¢ 'a'value « 'a'value

— stretch factor — stretch factor

— direction of opening — direction of opening
s y-intercept s vertex

- AOQS

— Domain/Range
- Max/Min y value
— Sketch/Graph

We need to FACTOR..."Complete the Square' Method!!!

S --> V by completing the square

STEPS: EXAMPLE #1...

1) Factor out the 'a’ value from both y — xz — 6'): _|_ 4
the x and x? terms [GCF].

2) Complete the square on the x term...
- take half and square it!
- add this constant within bracket
- subtract constant outside bracket
multiplied by the 'a’ value in front,

3) FACTOR the perfect square trinomial

Note: JFirst & /Last with sign from middle

VERTEX FORMI!
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_Quadratics: Stunclerd Eorm® y=ax’ +bx+c
Verfex R y=a(x-h) +k

Put the following equations in standard form by completing the square.

3 y=x2+4x _ 9. y:x2+4x—2 ’
2. y=x*-4x 10. y=x>-6x+1 * SOLUTIONS:
#. y=(x+2) -4
#.y=(x-2) -4
3. y=x*-6x 11 y=x"-8x-5 # j:éc—z))’&
5 25
#.p=lres| <=2
‘ yose3) 2
4, y=x*+5x ° 12. y=x*-3x+1 #5‘}’:(’5'2}2—2
, 2) "4

#6. y=(x—8)" —64
| #7. y=(x+1) -1
5. y=x"-3x 13. y=x*+2x-5 #. y=2(x+1) -2
' #. y=(x+2)" -6
#10. y=(x-3)" -8
#1. y=(x-4) -21

4
#3. y=(x+1)-6 |
#4. y=(x+30-4 |

3Y 3 |
#5. y={x-2| +2
y ( 2] |

6. y:x2_16x 14. y=x2+6_x+5 #12,);:( —%JZ_E

4

2
#16. y=[x—§] =

7. y=x*+2x 15, y=x*-3x+3

4

8 y=2x"+4x ' 16, y=x"-5x-2
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